



姓名: _____

日期: _____ 分數: _____

$$\frac{1}{3} - \frac{1}{3} \times \frac{2}{5} =$$

$$40 \div 10 - \frac{1}{5} =$$

$$\frac{1}{2} \times \frac{1}{6} + \frac{1}{3} =$$

$$\frac{1}{3} \times \frac{1}{3} + \frac{2}{5} =$$

$$\frac{1}{3} + 66 \div 6 =$$

$$42 \div 7 + \frac{3}{4} =$$

$$\frac{1}{5} \times \frac{1}{3} - \frac{2}{3} =$$

$$\frac{1}{3} + \frac{2}{3} \times \frac{3}{2} =$$

$$\frac{3}{4} + \frac{3}{5} \times \frac{1}{2} =$$

$$\frac{2}{3} - 18 \div 6 =$$



姓名: _____

日期: _____ 分數: _____

$$\frac{1}{3} - \frac{1}{3} \times \frac{2}{5} = \frac{1}{5}$$

$$40 \div 10 - \frac{1}{5} = \frac{19}{5} = 3\frac{4}{5}$$

$$\frac{1}{2} \times \frac{1}{6} + \frac{1}{3} = \frac{5}{12}$$

$$\frac{1}{3} \times \frac{1}{3} + \frac{2}{5} = \frac{23}{45}$$

$$\frac{1}{3} + 66 \div 6 = \frac{34}{3} = 11\frac{1}{3}$$

$$42 \div 7 + \frac{3}{4} = \frac{27}{4} = 6\frac{3}{4}$$

$$\frac{1}{5} \times \frac{1}{3} - \frac{2}{3} = \left(-\frac{3}{5}\right)$$

$$\frac{1}{3} + \frac{2}{3} \times \frac{3}{2} = \frac{4}{3} = 1\frac{1}{3}$$

$$\frac{3}{4} + \frac{3}{5} \times \frac{1}{2} = \frac{21}{20} = 1\frac{1}{20}$$

$$\frac{2}{3} - 18 \div 6 = \left(-\frac{7}{3}\right) = \left(-2\frac{1}{3}\right)$$